A x o et x -2 =13 - x2 =V=9 + V=16 2 a + bi B2 1}
Ebd W o + b O] g2 F5HH?

® -5 @ 2x-4 ® 2x
@ 2x-5 ®0






® 3

0|

0 [0

@ 2

NeN Bia)



4.  AFHA 5-12i 7} HE BaE?

D £(2+3i) @ +(2-3i) ® (3 -2i)

@ +(3+3i) ® £(3+ 3i)



S L P

@ -1 @0
1- V3i 1+ V3i
® —; ® —




<K 7> oA A

o

=1

ot

6.

S
™

@@_7
@
ﬁr«

IHM

® I, 1II, v

, I
IL,

v

@ T,




, B ol tiote] A
A, zx7 9] G227
® -1 @ 1

£ auf = (a+f)-opet At = ——

-2-1i



@ ab<0 @ ad>0 @ bc>0

@ bd <0 ® ¢d>0



]
=1

AEH 919
4 prtae

=
=

V-1

A o, (2 -3i)z7F A7t = A

LS
g

ot

&

I

°

P(a, b)

o

I

—_—

olp

@ 71=717}



